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Please come in quickly
(=)  Peagskke
WRX(Z) AR TFFNIEDR
&S & : Language Points:
1. BB AME 1. V4R/25
Simple directional complement 1: V+2f/25
2 B A CHIAT R and “BIA”
3. V+&F The structure “V+%F”

e e e v A bl o

| do not know what gifts to bring
W (—) ARENT2LE
() AT E A

&S /= : Language Points:
1. B AME 2. WEIRR “Vok/iE”

Simple directional complement 2: “V+3k/2&”
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2. — e e The structure
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with the object
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e =) USRSyt 29

| regard him as an ordinary patient

R (—) AT EESRAA
ﬁiCﬁ FACALF HEE R A

i8S & : Language Points:
.%E’%théﬂ ------ V+E/E/ %
The # -sentence 1: -+ V+1E/2/%5
o “?E"” ""’/_J 2. EHE ...... V_Hﬂz
The #8 -sentence 2: f{8:-+-+- V+i§

S e B TR L e e RO B 44
| wear a white T-shirt
W(—) FARELE
RX(Z) FEHEFALAKTIL
&S /M : Language Points:
1. hSEE “F 17 BashfEECRS M RrLe
The dynamic particle “% 1”: indicating the continuation of an
action or a state
2. g BhIA “E 27 RN

The dynamic particle “% 2”: indicating the existence

S U e < B ) Tl e e e 58
| do not play as weII as you

WRX(—) WREBLERE T

WX (Z) EAURITIRLT



&S /= : Language Points:
1“7 ByHAeA) 3. ARASHME R it
The comparative sentence 3: The comparative sentence with the
state complement
2. il A7 R
The verb “ANUN”: indicating comparison

3 A B o L ow e The strictime s e Bt ] =50

S A R 1 - < A B R S R B 75
Eat less than usual

B (—) R DIz —

WD) RIFEBRME AT
&5 = : Language Points:

1. B “Fb” BHeEch) 4. A L B+BR/BR/Z//D+V -

MO EERRE | Zo ceeeeeenreeeeieiiiiieee et 88
Climb up through this way

H(—) MXSFHIEEE

H(Z) AANBERKAET
{ES = : Language Points:

1. & #ME Compound directional complement

2. &iAHEZE The duplication of a measure word

2= -~ 7 R R TERPREe 101
Watch the World Cup when drinking beer

R (—) W& M A A

BHC(Z) ¥k E B 1Y



&= & : Language Points:

1. B “%F 37 FRSERHFRE

The dynamic particle “Z 3”: indicating the accompanying state

of the action

2. .- e the more ... the more ...

S e R e e e e

Fill the glass with beer and drink a toast
WRC(—) AN, T
W (Z) REKHEARTGERLRT
&S & : Language Points:
1. 4B 4] 3: {E+O+V+E5 RAME
The #-sentence 3: #£+0+V+Resultative Complement
2. “YB” Fh] 4: HP+O+V+HE A AME

The f8-sentence 4: #%+0+V+Directional Complement -

3. “HE” Fa) 5: HE+O+V+ELAh R A
The #8-sentence 5: f8+0+V+Other Elements

e L E T AT RS CYER BTN S A et

It doesn’t matter if you do not understand
WR(—) WAEBECR
WRX(Z) AT KZE
5 /= : Language Points:
1. Af§E4ME  The probable complement
2. VHi5/A+T  The structure “V+15/ A+ 71”7



BN ZE TR R T o-voon e senes via el b 00 N
My bicycle is crashed

R (—) RWEGEIR T

WX(Z) MFR—F—ELT
&S &= : Language Points:

1. “g%” 5%/4] The #—sentence

2. —+E i+ Ho+—+ 2 e

—+Measure Word+ Lt +—+Measure Word+Ad]

BRI R L

Except Yamamoto, everyone else will go

(=) BRTIWARRISh, RFEHEE
BT IRARE TR

&S = : Language Points:
1. %T ...... uylx, ...... The structure “B/%T ...... uﬁl\’
2. S N The structure “ANJg:----- I



